30 gooooo

Servo installation

@ (o>

M2.6X16TS (OO O) ........ 20
M2.6X16TS (washer attached)

@,
A 0O O Caution

goooooooooooon
Fasten the screws making
break the grommet.

ooooooooooooooooboooo

sure not to

ooooooo

Aileron servo

ooooooo
Servo plate

M2.6X16TS (DO O)
M2.6X16TS (washer attached)

q

y ))uu..1.\l\l|l|||||||||ﬂ

R

oooooo
Pitch servo

gooooooo
Throttle servo

A 0O O Caution

goooooogo
Elevator servo

M2.6X16TS (O O 0O)
M2.6X16TS (washer attached)

A 0 O Caution

ooboooooog

the servos.

Note the orientation of

A 0 O Caution

gooooooo

the right.

gooboooooooooooooboooo
gooboooooooooooooooo

If the servo interferes with the frame, remove
the part of the servo shown in the diagram on

gooooooooooooooo
gobooooooooooooa

oobooooobooooo

Tightly fasten the pitch servo
with the servo plate without

using a metal eyelet.

oooooo
Use a pitch servo with
kg-cm or more torque.

ooooooooboooao
6.0kglcm 0000000

6.0

Jooooooooooo
Rudder control servo

M2.6X16TS (OO O)
M2.6X16TS (washer attached)

A 0 O Caution

Jooodoooooooooooooam
Ooo0o00oooooooooooa
Install the noise filter between the rudder
control servo and the receiver.

A 0O O Caution

Joooooooooo

oooooooonoood

gooooog

When installing the servo, use
the lower holes (shown by
black circles).

©

®0 00




